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HOW TO OBTAIN UNITED NATIONS PUBLICATIONS

United Nations publications may be obtained from bookstores and distributors
throughout the world. Consult your bookstore or write to: United Nations, Sales
Section, New York or Geneva.

COMMENT SE PROCURER LES PUBLICATIONS DES NATIONS UNIES

Les publications des Nations Unies sont en vente dans les librairies et les agences
dépositaires du monde entier. Informez-vous auprés de votre libraire ou adressez-vous
a : Nations Unies, Section des ventes, New York ou Genéve.

KAK IIOJIYYHMTDH H3JJAHHA OPTAHH 3AIIMM OB BEJMHEHHBIX HAILUH

Hspauua OpraHusanun O6'beAMHeHHBIX Hanuil MOXKHO KYIHTh B KHHXKHBIX Mara-
SHHAX H areHTCTBaX BO BCeX pafioHax mupa. HaBoaure cnpaBku 00 H3JAHHAX B
BallleM KHHMXHOM MAarasHHe HJIH NHIIHTe no aapecy: Opranusanusa O6beJHHEHHBIX
Hanwuit, Cexuusa no npoaake uananui, Horo-Mopk unu HeHera.

COMO CONSEGUIR PUBLICACIONES DE LAS NACIONES UNIDAS

Las publicaciones de las Naciones Unidas estin en venta en librerias y casas distri-
buidoras en todas partes del mundo. Consulte a su librero o dirfjase a: Naciones
Unidas, Seccién de Ventas, Nueva York o Ginebra.

Litho in United Nations, New York Price: $U.S. 1.50 73-13855—~F ebruary 1976—=125

(or equivalent in other currencies)
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